








Editor in Chief® B1

9. A Pirate’s Life for Me?

“Yo ho, yo ho,” it’s a pirate’s life for me.”
Pirate’s lives were not as glamorous as books
have portray them. Pirates made their living

attacking merchant ships and inland towns the

battles were brutal, and a pirate rarely lived long.

Pirates were considered outlaws by all nations.
They sailed under their own flag, the skull and
crossbow, and lived by their own lose system
of rules. These rules specified the share of the
treasure each pirate received and the amount of
compensation for lost limbs and other injuries.

However very few of the pirates actually shared

in the lavishly treasure chests of jewels and gold.

Most was very poor, and many fared worst than

beggars.

Pirates sailed under the skull and crossbones
(a flag known as the Jolly Roger) and attacked
merchant ships and towns along the North and
South American coasts. In the Caribbean Sea
alone, treasures worth millions of dollars lie
buried beneath the waves.

Find the 11 errors in this activity. There are no errors in the picture or the caption.
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Mind Benders® Book 5

Around the World

André, Barney, Cleo, and Dixie, whose last names are North, Olsen, Partin, and
Ryan, live in Egypt, France, India, and Mexico. Read the clues to find each
person’s full name and country.

1.

Cleo, North, and the Indian are pen pals.
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2. Ryan has never written to any of the other three people.
3. The Frenchman wants to meet André.
4. Olsen and the Indian talked to each other on the telephone.
5. The Mexican woman saw Dixie’s picture in the paper.
6. Andre is not the Egyptian.
7. Dixie is not North.
North Olsen Partin Ryan Egypt France India Mexico

André

Barney

Cleo

Dixie

Egypt

France

India
Mexico
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Building Thinking Skills® Level 3 Figural
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SEQUENCE OF FIGURES—SUPPLY PATTERN

Draw the details in the fourth figure in each row as it should

appear to continue each sequence.

B-21

B-22

B-23

B-24

B-25
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Building Thinking Skills® Level 3 Verbal

TIME SEQUENCE —-SUPPLY
The first two words in each group suggest an order of

occurrence. Think of a word that will continue the time sequence
and write it in the blank. Use a dictionary if you need help.

B-203 departure, flight,

B-204 lesson, rehearsal,

B-205 cause, situation,

B-206 early, prompt,

B-207 mix, cook,

B-208 decide, order,

B-209 infection, treatment,

B-210 problem, action,

B-211 ancient, old,
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Word Roots B1
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FOCUS: geo

PREFIX ROOT SUFFIX
centr center -al like, related to; an action or
chron time process
gen cause, birth, -er one who, that which

race, produce -ic like, related to
geo earth, ground -logy study of, science
graph  write, written | “0US  having the quality of
therm  heat -y state of, quality, act; body,
group

DIRECTIONS: In Column A, identify the elements in each word by circling roots and underlining
prefixes and suffixes. Then match each word with its correct meaning from Column B.

COLUMN A COLUMN B
1. - a. one who writes about the earth’s features
2. geology . b. growing on or in the ground
3. geocentric _ c. related to the heat of the earth’s interior
4. geothermal __ d. related to the earth’s center; earth-centered
5. geogenous . e. system of time divisions used in the study of the earth
6. geographer __ f. study of the earth’s structure

DIRECTIONS: Underline the best word for each sentence. Use each word only once.

1. Asa (geographer, geochrony), one must be extremely knowledgeable in all aspects of the earth’s

composition.
2. Epochs, periods, and eras are terms primarily related to (geochrony, geology).
3. Geysers are a source of (geogenous, geothermal) energy.
4. Most plants that are (geocentric, geogenous) have root systems.
5. Early Greek astronomers developed a (geogenous, geocentric) model of the solar system.

6. Volcanoes and glaciers are part of the (geochrony, geology) of the earth.
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Gifted Sample Activities Answers

ANSWERS
Page 1: @ % 9

Page 2:  The dinosaur on the upper left is the dinosaur on the lower left. The dinosaur on the upper right is the
dinosaur on the lower right.

Page 3: 7 ﬂ? a§ I
Gy INCIN
N 2 2 :

Page 4:

Page 6: 10 20 25 35
NAY NN, Clue 1 states that the black-tailed fish had more than the white fish, so it didn’t eat the
SN N Y N fewest and the white fish didn’t eat the most. Clue 2 states that the spotted fish had 5
&y TnIn In more than the black-tailed fish, which means that the spotted fish had 25 and the black-
& Nz NZ NZ y‘ tailed fish had 20. So the white fish had 10 and the striped fish had 35.

Page7: 10, 8;12,12

Page 8:

WHOLE __herd _ paARTS bull calf. cow

Page 9: Problem 1: ﬂ =10, O =15, ? =15. Explanation: Divide both sides on 2nd balance in half so O =15.
Substitute 15 for O on 1st balance so n + 15 = 25. Remove 15 from both sides so m =10. Divide in half

so‘ =5, s0 m A =10+ 5=15. Problem 2: *: 25, <>= 15, ? =45. Explanation: Divide both sides on
2nd balance in half so*: 25. Substitute 25 for* on 1st balance so 25 +<>= 40. Remove 25 from both sides

SO <>: 15. <><><>: 15+ 15+ 15 =45.
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Gifted Sample Activities Answers

Page 11:

Page 13:

Page 14:

Page 16:

Page 17:

32

1. The cat told the dog to purr. The dog probably could not purr. Best evidence sentence: 4

2. B. Laughing made the hyena happy. Best evidence sentence: 9

3. A. look happy. Best evidence sentence: 16

4. The lion wanted to see how the dog would show his happiness. Best evidence sentence: 27

5. He was happy. His wagging tail meant that the dog was happy.

1. a.F6b.T7,c.T3,5d.F8

2. b

3. Plants get their energy from sunlight. Without the sun, plants would die. 3

4. No. Animals get energy from eating plants. They also get energy from eating animals that eat plants.

Without plants, animals cannot get energy.
ant r»beetler»_owl
[_nuts }»{mouse {cougar|
5 [g9eds P{shrimpls{ fish f»{shark ]
ﬁ motlgr;'rrlain

6.

[ [ feric

1. F;3

2. U; The story does not identify where they live, though it is probably false that they live in the city. It is more
likely that they live near a forest, given sentence 8.

3. F;5

4. He melted from the heat beyond the Great Meadow.; 11

5.  b; The story shows the importance of using good judgement. Aiden chose to ignore the caution to not go
past the Great Meadow because of its dangerous heat. Being a snowman, heat would melt him. Aidan
went anyway and was never seen again.

6. a,d

7. c

8. d

9. PT; 11, 13, 14; Sentence 11 tells us that the heat is dangerous for snowmen. Sentence 13 and 14 explain
that Aiden chose to ignore Reilly’s warning and went past the Great Meadows. Aiden probably melted
from the heat. And personal knowledge; for example: When | went to the mountains, | tried to bring back
a snowball. The heat in the car melted it.

10. PT; 8; Sentence 8 tells us that Aiden always tried to protect his neighbors from the forest. The clue here
is the word “neighbors”. A neighbor is someone who lives near you, so if these neighbors live in a forest,
then Reilly probably lives in or near the forest. Since Aiden and Reilly live together, then Aiden probably
lives near a forest, too.

ANIMAL NAME The cat isn't Jumper or King (3) or Rose (1), so it is Sparkle. The goat isn’t
Jumper or King (3), so it is Rose. The horse isn’t Jumper (2), so it is King.
cat Sparkle Then the dog is Jumper.
dog Jumper
goat Rose
horse King
1. The man in the picture is Sarah’s father helping her practice.
False. Evidence: the photo, sentences 2, 3. The man cannot be her father because Sarah does not
practice the piano on Wednesday. On Wednesdays, Sarah has piano lessons, so the man in the photo
helping her is probably Mr. Keys, her piano teacher.
2. Sarah sometimes practices more than six hours a week.

Unknown. We do not know if Sarah ever practices more than six hours a week, though it is possible,
especially if she is preparing for a recital.

3. Sarah never uses sheet music during her music lessons.
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Gifted Sample Activities Answers

False. Evidence: the photo. The photo shows Sarah using sheet music during her music lesson.
In fact, using sheet music is the way most people learn a new piece of music.
4. Sarah’s favorite piece of music to play is Debussy’s “Claire de Lune.”
Unknown. We are not told what music Sarah likes to play, not even her favorite piece of music. Just
because we see Sarah playing “Clair de Lune” in the photo does not mean it is her favorite piece of music.
5. Sarah enjoys playing the piano and having piano lessons.

True. Evidence: sentence 1. Sarah likes playing the piano, and she looks forward to her piano lessons.

Page 18: “If you think education is expensive, try ignorance.” Derek Bok
a b e d

I S
—| =+
— ==
+ | —|—[—

A W N =

Answers: a=4;b=3;e=1;d=2
Since b is greater than 2 and less than 4, b must be 3. If b is greater than d, d must be either 1 or 2. Since e is less
than d, e must be 1 and d must be 2. ais then 4.

i u Yy t
— | ==+
+ | — | —
—_ || —
— ==

0 N O !

Answers: i=6;u=8;y=7;t=5
Since v is greater than /, and / is greater than f, and y is 7, then u must be 8, the biggest number. / must be 6, the next in
order after y. Therefore,  must be 5, the smallest number.

n o r h

o|l—|—|—[+
104 | —|—
1n|—|—|4|—
12— |4 | —|—

Answers: n=10;0=12;r=11; h=9
Since ris not 9 or 10, then r must be 11 or 12. o is greater than r, so r must be 11 and o must be 12. That means n is
equal to either 9 or 10, but since it is stated that n does not equal 9, n must be 10. / is then 9.

Page 19: 85) 20 cubes
86) prime numbers
87) dime
88) 4 acute angles; 2 right angles
‘ G1 la) a. amuse b. entertain work ‘
Page 20: = “
‘6-2 allow (@deny b. let c. permit ‘
‘5-3 mend @preak b. correct t c. patch ‘
‘5-4 save a. collect b. store (©spend ‘
‘5-5 harm a. damage b. hurt (©)benefit ‘
‘a-s doubt (@believe b. challenge c. question ‘
‘G-7 reduce a.cut b. diminish @mcrease ‘
‘G-B conclude a. close b. finish ©open ‘
‘G-B approach a. arrive (®)leave c. reach ‘
‘ G-10 escape a. depart b. flee @emm ‘
‘5-11 reject (@accept b. dismiss ¢. overlook ‘
‘5-12 overlook a. miss b ignore ©xhoose ‘
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Gifted Sample Activities Answers

Page 21: The chef explained that because she had broken both of her legs in a skiing accident, she would no longer be
able to do her job which required her to move about the restaurant kitchen. The interpreter summarized her
statement and left out a few key parts of it.

Page 22: cutoffs, uppercut
sweep, clean sweep
step or stride
thirst

Page 23: (a) Divide both pans in half, then reverse.
(d) Remove O O from both pans, then reverse.
(e) Divide both pans by 3, then reverse.

Page 24: d. Remove <> from both pans on 1st balance so Q = . I (Tip 4) From 2nd balance, substitute I I for

_HOH ||

Page 25: Elephant bird. Best evidence sentence(s): 6

Siebe Long Goodyear von Liebig
diving helmet anesthesia vulcanization chloroform
1840 1842 1839 1832

EXPLANATION Clue # 1 tells you to cross out vulcanization and chloroform under the two names, meaning you cross
out the diving helmet and anesthesia under the other two names. In Clue #2, you cross out 1832 and 1839 where
appropriate. Clue #3 tells you Goodyear and von Liebig were in 1839 and 1832, so cross out where appropriate. Clue #3
also tells you the diving helmet had to be Siebe in 1840 and anesthesia had to be in 1842.

Page 26: 1. “Yo ho, yo ho, it's — Punctuation: unnecessary quotation marks (middle of quote)
Pirates’ lives — Punctuation: apostrophe used with plural possessive ending in s
have portrayed — Grammar: past participle (used in present perfect tense)
(Acceptable: as books portray them)

coastal — Content: see caption (Acceptable: intand towns along the coast.)
towns. The — Punctuation: run-on sentence

crossbones — Content: see caption (Acceptable: flag, the Jolly Roger)

loose — Spelling

However, — Punctuation: comma used after introductory word

lavish treasure chests — Grammar: adjective modifies noun

Most were — Usage: agreement of verb with indefinite pronoun

fared worse than — Grammar: comparative adverb

w N

S,OXXNO O

—_ =

Page 27: NAME COUNTRY The person living in Mexico is female (5) but isn’t Dixie (5), so she is Cleo. The
person living in France is male (3) but isn’t André (3), so he is Barney. André
doesn’t live in Egypt (6), so Dixie does, and André lives in India. North is not Cleo
Barney North France (1), André (1, India), or Dixie (7), so North is Barney. Three of the people write to
each other (1), but Ryan is not one of these people (2), so Ryan is not Cleo (1) or
André (1, India). So Ryan is Dixie. André (India) is not Olsen (4), so Cleo is, and
Dixic Ryan Eeypt André is Partin.

André Partin India

Cleo Olsen Mexico
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Gifted Sample Activities

Page 28: B-21 See Graphic B-22 See Graphic

B-23 See Graphic B-24 See Graphic

'Y p<

B-25 See Graphic

v

Page 29: B-203 arrival B-204 performance
B-205 result B-206 late
B-207 eat B-208 receive
B-209 cure B-210 solution

B-211 modern

Page 30: 1. e @@
f Geology

d  geogentic
c @@
b (@edgenous
Qed Grapher

geographer

2 T

V]

—_

geochrony
geothermal
geogenous

geocentric

o g~ 0w

geology
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Answers
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